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What is the sum of all two digit odd numbers?
(a) 2375 (b) 2475 (c) 2325 (d) 2425
(SSC CGL 2022)
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7 Is added to a certain number and
the sum is multiplied by 5. The
product is then divided by 3 and 4 is
subtracted from the quotient. If the
result comes to 16, then what is the
original number?

(2\ (h) 1 (c) B
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If sum of squares of two real
numbers is 12 and the product of the
numbers is 4, find the difference
between the numbers?

(a) 4 (b) 8 Ok
(d) 2
(SSC CGL 2022)
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What is the remainder when
8127 is divided by 87
(a) 5 (b) 7 (c) 4

(d) 6
(SSC CGL 2022)
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What will be the remainder when
2727+ 27 is divided by 287

(a) 28 (b)27  (c) 25
(d) 26
(SSC CGL 2022)
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If the 4-digit number x67y is exactly
divisible by 9, then the least value of

(X +y) is-
(a) 9 (b) O (c) 5 (d) 3
(SSC

CGL 2022)
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Which of the following numbers are
divisible by 2, 3 and 57

(a)5467760
(b) 1345678
(c) 2345760

(d) 2456732 (SSC
CGL 2022)
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What will be the remainder when 742 is
divided by 48?

(a) 2 (b) 3 (c) 1 (d) O
(SSC CGL 2022)
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On dividing a certain number by 363, we
get 17 as the remainder. What will be the

remainder when the same number is
divided by 117

(@) 7 (b) 8 (c) 6
(d) 9

CGL 2022
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A number n when divided by 6, leaves a
remainder 3. What will be the remainder
when (n?+5n+8) is divided by 67?
(@) 1 (b) 3 (c)

(d) 2

SSC CGL
2022
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The largest 5-digit number that is exactly
divisible by 88 is:

2)99968 (b) 99689 (c) 68999
(d) 66698

SSC CGL
2022
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In a 7-digit number 89476*2, what is the
smallest possible value of * such that the

number is divisible by 87?
)V (b) 1 (c) 4 GE!
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Find the remainder when 191° + 20 is divided by
ik}

(a) 3 (b) 2 (c) 1

(d) 0

SSC CHSL 2022
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If a 7-digit number 54p3987 is divisible by 11,
then p is equal to:
CE (b) 9 (c)4 (d) 1

(SSC CGL

2022)






